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i) T = % (BB R B 5 I 155K | 15~645% | 65mLA L
# # 52,308 | 126,057 | 65128 60,929 | 19,090 | 98,223 8, 744
W = 1 T H 821 1,805 1,000 805 250 1,428 121
¥ £ 2 T #H 1, 045 2, 276 1,211 1,065 285 1,754 237
W% 38 T H 672 1,602 836 766 165 1,188 249
WO 4 T H 808 1,667 855 812 157 1,254 256
W% 5 T H 784 1, 454 180 674 151 1,108 | 195
% R B T H 1,396 2,593 1,373 1,220 274 2,052 267
5 R B T H 1,839 3,839 2,078 1,761 462 | 3,033 344
R OB T H B64| 1,875| 1,007| 868 2| 1,418 185
B | A S 1 T H | 148 2, 480 1,316 1,164 280 2,066 134
it % 2 T H 2,073 4,208 2, 210 1,998 663 3,366 179
i % 3 T H 2,208 4,295 2, 336 1, 959 650 3,428 217
it % 4 T H 1,217 2,732 1,438 1,294 511 2,125 96
o 7L 1 T H 1,225 2,622 1, 336 1,286 353 2, 047 222
T 2 T H 901 2, 041 1,090 951 285 1,492 264
w T 3 T H 936 2,085 1,081 1,004 225 1,549 261
w1 4 T H 1,473 3,118 1,672 1, 446 406 2,412 300
w T 5 T H 892 1,937 1,073 864 274 1, 554 109
B I 6 T H 869 1,659 920 739 241 1,325 93
€ + R 1 T H 1,004 2,227 1,192 1,085 495 1,644 88
g + R 2 T H 1,251 2, 141 1,504 1,237 528 2,116 97
E £+ R 3 T H 1, 466 2,959 1, 641 1,318 491 2, 356 112
Z + B 4 T H 908 1,916 1,060 856 324 1,524 68
g &+ R 5 T H 1, 446 2,796 1,576 1,220 473 2,261 62
O O®H 1 T H 703 1,889 969 920 4117 1,398 74
m % 2 T H 973 2,531 1, 345 1,186 552 1,894 85
O OH% s T H 614 1,725 887 838 215 1,354 156 |
% W & v 1 T H 14 20 16 4 2 18 0
o & v 2 T H X X X X X X X
% W o@® v 3 T H 11 12 11 1 0 12 0
g W 1 T H 221 708 334 374 42 588 78
E B 2 T H 544 1,812 905 907 297 1,428 87
E B 3 T H 1,334 4,111 2,016 2,095 598 3,274 239
Z @ 4 T H 265 798 402 396 95 620 83
& 1 T H 637 1,261 671 590 188 1,013 60
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7 T S % | HEBRIB K 5 28 15EESRHS | 15~645% | 65mLA L
& g 2 T H 126 1, 465 704 761 164 1,212 89
4 1 8 T H 442 1,088 579 509 218 836 34
4 4 T H 524 1,329 653 676 133 1,087 109
£ X 1 T H 300 840 421 419 84 | 676 80
£ X 2 T H 565 1,708 808 900 120 1,379 209
£ X 3 T H 489 1, 466 132 134 164 1,171 131
£ K 4 T H 318 999 498 501 106 82 111
wox%® 1 T H 1,393 3,109 1,663 1,446 | 445 2,421 243
B % 2 T H 1,165 2, 806 1, 455 1, 851 313 2,285 258
A R 1 T H 30 31 29 ) 0 29 2
A W 2 T H 111 2, 445 1,227 1,218 324 1, 989 132
A W 3 T H 593 1, 905 952 953 238 1, 547 120
A W 4 T H 866 1,926 1,084 | 892 2017 1,591 128
A WM 5 T H 322 1,082 511 571 120 900 62
A W 6 T H 813 2, 660 1, 285 1,375 320 2,171 169
£ ® 1 T H 1,158 3,395 1,614 1,781 750 2, 438 207
2 ® 2 T H 907 2, 115 1,325 1,390 516 2,010 189
z ® 3 T H 431 1, 327 655 672 101 1,066 160
%2 ® 4 T H 483 1,493 719 114 117 1,228 148
%2 & 5 T H 956 2,806 1,323 1,483 376 2,303 127
®# ® 2 T H 780 2,439 1,180 1,259 296 1, 935 208
= ® 3 T H 486 1, 590 739 851 271 1,215 104
#= i X X X X X X X
oA i 1,406 3,657 1,809 1,848 782 2, 149 126
H ) Y 2,118 5,911 3, 040 2,871 1,323 4,227 361
& 12 13 12 1 0 13 0
= i 1,415 4,100 2,064 2,036 981 2,907 212




